@ Asada
AAH

N TY—
1IN 7T —400SA

T H 2018/03/01



N Ty —

@ Asada

INA{ T —400SA A{KER
Ref.No. a— KNo. e B# =
1 71118 N A7 Y-D Z FN {24), 380 % 8 LU 1 200A F
71120 N A7 Y-D Z FN {24 490 x 8 1L 1 300A F
2 - 14N 7 b=} 1
3 57104 meTIFE Y 1
4 PS533 [BET2PL 1
5 PS524 N b W3- 2
6 PS523 AN 7 Fhyb 1
7 PS525 b Yy 1
8 80076 FNEF W M12 X501 B 1
9 81116 FhEE M12 2% 1
10 81160 TES M12 23 1
1 81025 NAPINMI2 ZEES 1
12 80183 FRATUTE W M8 x50 1
13 PS522 LA 1
14 80166 FNATUTE W M6 x20L B 4
15 81250 HRIERES M6 B 4
16 80037 A W M8 X251 B3 2
17 81114 [FhEE M8 B 2
18 81067 U tyb M8 —1EE$ 2
19 80180 FRATUTE W M8 x 35 1
20 PS273 BE¥ 1
21 84185 hh7+07 1
22 PS517 L@ - 1
23 PS270 2R 1
24 PS345 W R A5 1
25 58107 DA 1
26 PS272 J=h" 4 1
27 70640 N 9%y 1
28 PS271 M2 F 1
29 PS535 F v - 1
30 PS559 AiE 1
31 PS514 BRS¢ 1
32 PS513 M 347 Yx7h 1
33 PS557 F—EhEEE ¥ 1
34 PS556 F—Et =ty 1
36 70823 17-%% 1
43 84162 i -IA" 7YYH 6300ZZ 1
46 83505 C i8R H-36 1
47 84116 i =W FYYY 620127 1
48 84167 i - TYYH 600422 1
49 83309 C HiE &k S-30 1
50 82320 FRETUEE U b M6 x 16L 2
51 81250 HRIERES M6 B3 6
52 80178 FRAETUTE W M8 x 251 4
53 81249 HRIEES M8 4
54 81151 EEE M8 1
55 80117 FNAEF Wb M8 X 25L ATV 1
56 80167 FRATUTHE Wb M6 x 251 4
57 81113 [EhEE M6 2 4
58 83278 174 5x5x15 (MH) 1
59 81161 91-7" Tyyy 6202 1
60 PS516 AEN 93y 1
61 84508 0 Y245 s50 1
63 81066 NATYE M6 2 1
65 80412 FRAUTIEDHI L ME6X25L 1
66 80166 FNAIUTE W M6 x 20L 3
69 83090 27 Y0 B v ®3.5%x45L 2

BT H 2021/01/25



N Ty —

@ Asada

INAL T —400SA A{KER
Ref.No. a— Fho. i RE B 5

70 83088 A7 UVhE v D6 x 451 2

71 83307 C RiE &k S-20 1

72 57154 - 6X6%13.5 ( @h) 1

73 80392 NATYTIEHAR L M5 x10L (M Y%) 1

74 81055 Utyhb M5 —F4v¥ 1

75 81120 [EHREE M10 1

76 82320 AL b W M6 X 16 1

77 81250 ARiEhES 6 2% 1

78 SS0574 SP Asada 7° b-} 1

- 83352 N —h-$E 2x4.8L 4

79 84170 i -lA 7YY9 620027 1

80 58526 JIFN AN L 1

81 58527 JAAN AN R 1

82 82276 M/ L M5 X 151 fy$ 2

83 58510 PANEY 1

84 83373 AV E Y 1

97 83034 AU E VP 6x16 1

- SS0557 P400SA #4881k 1

#H PS505 P380SP 4" 4} 7" 3y MA 1 No.5~19

#H PS359 P380 #4% FY-1 4} i#afA(No.26~28, 46, 76, 77) 1

8 PS367 P380 #% F #H(No. 27, 28, 46) 1

A PS368 P380 & R #H (No. 23, 24, 49) 1

#H PS506 P 380SP #4 b nvbh 4R 1 No.5. 12, 13, 19
#H PS301 3 4+ 7" b-14E 200A(No. 2, 80, 81, 82x 2, 83, 84) 1 200A B

#H PS262 344 7" b-14E 300A(No. 2, 80,81, 82 2, 83, 84) 1 300A A

#8 PS552 P4A00SA T 7—E—4# 1

BT H 2021/01/25



INA RER

@ Asada

N TY—
N T — 400SA

BT H 2018/03/01



N Ty —

I8N T — 400SA

@ Asada
INA REB

Ref.No. a— FNo. e B =
1 PS287 RF7Y T hin— 1
2 PS288 OA—Li¥ Tk 1
3 70273 R=ILTSoTr— 1
4 34422 y5v7ay K 1
5 PS289 2y 1
6 PS286 Y 1
7 PS284 EEEITva 1
8 PS285 Jyiany R 1
9 PS283 EYNUERIL 1
10 PS280 N RE 1
1 PS279 N AKIE 1
12 PS304 Y5 TRILE 1
13 PS353 g5 U8— 1
FIUNERIZE>TVETS,
N F o UXEEE, ¥ 7ILHAN.O01491 LLFEIT(2019
14 PS04 V=2 F 22 400A . £ 11 BUBTEES )DL AL PS289 T7vs 4
BIRFICRH L TLEELY,
15 PS352 n—3EY 1
16 BE884 BESO hwviaO—5 1
17 PS281 N RN 2
18 80166 NATUTARIL b MEX20L B3 8
19 81250 AREESE M6 2 18
20 80165 RAMIARIL F Mex18L B 3
21 PS354 P381 Fx VRAEY 1
22 82200 +HENPMRLE Mex10L B 3
23 84425 R—=ILAT 25 690722 1
24 57218 F— 6X6x14.5L (F#L) 1
25 84342 AALAKESA4 Ay + 70B-4030 1
26 84343 AALAKESA4 Ay b 70B-4020 1
27 84335 AALAKESA4 Ay + 70B-2020 1
28 84333 A LAEKESA Ay 70B-1315 1
29 81011 NATY FMI2 ZFEER 2
30 84119 ASARR7Y Y 51101 1
31 81076 INRATY B M12 B2 1
32 80617 {EEEYx v v 7 M6 x25L 4
33 83042 AEY T ED6X30L 1
34 81166 AS ATy v AS4060 1
35 83304 C HiE &k S-15 2
36 61442 ASAKDyw 3
38 81067 U+vyhk M8 —TEES 1
39 83310 C MiE&H#R S-40 1
40 83348 C Ri&H#k S-36 1
41 25114 RFYGxvy T 1
42 81221 TES M12 INEHLER 1
43 83078 AEYHTE ®P4x40 2
44 80432 RANTIEHI L M8 x 25L (#%k) 1
45 BE024 BEDH7H4JL—F 1
46 82909 +FEIUTMAE v ERT 2.6 X6L 2
47 S$50372 P400SA A4 R FEZESAL 1

EHTH 2022/03/29



E—2E

@ Asada

N4 FyY—
INA Y — 400SA

12

13

BT H 2018/03/01




INA T —

N T — 400SA

@ Asada
E—2E

Ref.No. a— FNo. % B# wE
1 70823 I7—E—4 1
2 PS558 ABF¥Y 1
3 80351 NAFYTIER L MAX4L 1
4 PS560 E—4J37v b 1
5 84136 R—ILARTF 1) >4 600322 1
6 PS561 E—42HhF5— 1
7 84026 0¥y s-44 1
8 80637 RATUTARIL b 1/4 x 201 3
9 85036 —w I UAx 14 2
10 85038 FRARIILR 1/4%1/4 1
1 85039 BENITya U4x12 1
12 70346 FvWiNE FV-1/2B 1
13 71100 7345 40PM 1
14 70422 TS5 5RF¥ vy 7 20PM A 1
15 85037 IR 1/4x1/4 SUS 1 IFE—4ATIT75%KL
#H PS552 P400SA T7 —E—# #(No.1~15) 1

T H 2021/08/31



	133c2ddd1b07f62479b16363000e1db4ef141b146c990ab48749020bf4dc7135.pdf
	Ref
	133c2ddd1b07f62479b16363000e1db4ef141b146c990ab48749020bf4dc7135.pdf

